Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 6 (NEW) - EXAMINATION — Winter-2024

Subject Code: 4361902 Date: 21-11-2024
Subject Name: CAD/CAM
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of simple calculators and non-programmable scientific calculators are permitted
5. English version is authentic.
Marks
Q.1 | (a) | Differentiate wire frame modeling and solid modeling 03
USLT | (M) | dldR U HIS(EdL A A1[Es HIS(Ed1 g2 «ll dslad dull. 03
(b) | Write the application of CAD system. 04
() | CAD (MM <1l GUAI (AN qudl. 0¥
(c) | Explain pure primitives used in CAD solid modeling with figure 07
(5) | #tsld 412 cAD Allas HIS(EaH] dupdl Wk dlHfed [@N| o9
1)
OR
(c) | Explain Boolean operations with figure used in solid modeling with 07
figure.
(5) | Alles HIS(EAH duldl offcyst Ul M1sd A8l uHomdl 09
Q.2 | (@) | Write a short note on parametric modeling. 03
U2 | (4) | QAA[2s HIS[EaL g5 il qudl. 03
(b) | Explain extrude command and revolve command used in any CAD 04
software.
(W) | S16URL CAD 1$2dR Hi dURLdl A5UZS SHIS wel Ralled $HIeS | oY
(AN ealicl,
(c) | Explain the Constraints used in CAD software. 07
(5) | 55 q182dR Hi dURldl seeeeil (AN eslld). 09
OR
Q.2 | (a) | Write the name of parametric and non-parametric modeling software 03
U2 | () | WRARS wal ellel URA[2S A152AR <ll ollH Uil 03
(b) | Explain 3D array command used in CAD software 04
() | 35 Uls2dR Hi duldl 3D AR sHIeS (AN YHdl. 0¥
(c) | What is bill of materials (BOM) in CAD? Write general stapes to create 07
BOM.
(5) | 35 Ui (g w5 HElRUR Q| B? BOM Wellddl HI2 «ll UAGIH)L | o9
W) duil.
Q.3 | (a) | Write full name of NC, CNC and DNC machine. 03
Ual.3 | () | NC, CNC 24sl DNC Heilet oil Yl oilH cul, 03




(b) | What is machine zero and work piece zero? 04
(©f) | Hellst K120 wial asuly 1) wed gj? oY
(c) | Explain closed loop and open loop CNC machine. 07
(5) | 561»S qU el 3{)Uel U CNC Heilel (AN Q1. 09
OR
Q.3 | (a) | Write the advantages of CNC machine 03
U3 | () | CNC Helled sl SlAE1RA) dud), 03
(b) | Explain canned cycle. 04
() | Bl AlASE (AN slicl. ¥
(c) | Explain point to point system and continuous path system in CNC 07
machine.
(5) | CNC HRilstHi Ulpee g Ulped (MU Wal Soeleyel ulel ieH | o9
UHdl.
Q.4 | (a) | Draw only block diagram of CNC machine. 03
U84 | (M) | CNC Hellet ofl Hist eells SIUIAIM €. 03
(b) | Explain different types of drives used in CNC. 04
(@) | CNC Heilel Hi duld] ([alay usi? «{l sigd ([ay alidl. oY
(c) | Explain working of recirculating screw with figure. 07
(5) | A-uIA(R2l 1 ell 512 A w115 AUL& UHoxtdL 09
OR
Q.4 | (a) | List the tool used in CNC machine. 03
Ust.4 | () | CNC Hellel Hi duRldl 2¢ «fl Ylel welidl. 03
(b) | Explain the different types of feedback devices used in CNC machines. 04
(W) | CNC HRilst Hi duRldl [alay usiz «il §lsAs (Saisy (AN walidl. oY
(c) | Explain different types of main components used in CNC. 07
(5) | CNC He{let sil Yut 11 (AN &5 Hi walidl. 09
Q.5 | (a) | Write any three M code and its functions. 03
URL5 | () | S16URL AL M 51S el deil s1d sl 03
(b) | Write short note on tool radius compensation in CNC machine. 04
(«) | CNC Heilst Ui 2d (SUY $UsidLlet (AN 25 olly qul. oY
(c) | Write a program to mill two square pockets of 40mm x 40mm for a given 07
plat of 6 mm thickness using subroutine program as shown in figure-1.
(5) | uIs(d -9 Ui e21ldd Ul HI2 e [2el UAIHeAL GUAL 53A 6| 09
Hl ons1e ofl w0d W@e HIZ 40mm x 40 mmetl & ARY Ulde
Wetldal HI2 «ll A5 YIAH dudl,
OR
Q.5 | (a) | Write function of G00, G04 and G20. 03
U85 | (4) | CNC Heilet <1l G0O, G04 and G20 515 <1l S1 % LLdl. 03
(b) | Explain about tool length compensation in CNC machine. 04
(¢d) | CNC Heilst Ui 2d Aol SUsidLlst (AN yHodl. oY
(c) | Write a part program for CNC turning using do loop for a given figure-2. 07
(5) | w10 15[d-2 HI2 § GuUell GUANIL 53] CNC (oL HI2 Ul WA | 09

quil.
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